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This is a story of the birth of new Shin—
kansen.

Shinkansen had a new goal. Shinkansen
had to run at the speed of more than 300km
an hour from Osaka to Hakata. It could run
fast. The problem was not the speed. The
noise was the big problem. When Shinkansen
entered a tunnel, it made a big bang and it
was very noisy. The engineer of Shinkansen
was a great bird watcher. He knew when a
kingfisher goes into water, it's very quiet
and doesn't make a sound. So, he used the
shape of a kingfisher to make Shinkansen
quiet. But, all problems were not solved. When
Shinkansen entered a tunnel, it didn't make
a bang, but, the inside of Shinkansen wasn't
quiet. Then, the engineer used the shape of
an owl and a penguin to make its inside
qulet. So, not one, not two, but three birds

helped to make Shinkansen faster and quieter
and helped to develop the Japanese economy.

A (tunnel = b )b, bang =%, kingfisher=7% 7+ 3. shape=H.
inside=Afll. owl=77 17, penguin="XrF ' economy =%

(1) What is a big problem of Shinkansen?
( 2 ) What helped to make Shinkansen quieter?
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